

11/17/2023 03:00 PM | Install Friday 11/18/2023 09:00 AM | Install Saturday 11/18/2023 04:00 PM | Standy Bys 11/18/2023 05:00 PM | Event 11/20/2023 09:00 AM | Strike PO: Shipping Address: Citizen News 1545 Wilcox Ave Hollywood 90028

2nd Floor

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Additions					
	Bars - New York - Folding 6' Flat front and sides Painted white with stripes 6'W x 31"L x 42"H - Color Change Upon Request	1	\$950.00	Т	\$950.00
	Tokyo Straight Barback 4'W - Metal W/ Legs painted white 4'W x 18" x 8'h	5	\$225.00	Т	\$1,125.00
	Bars - New York - Folding 8' flat front and sides Painted white 8'W x 30"L x 42"H - Color Change Upon Request	1	\$850.00	Т	\$850.00
	Special One Time Discount Per MW instruction	1	\$-5,000.00	Т	\$-5,000.00
			Total Additions		\$-2,075.00
Kids Cocktails					
	Dividing Drape - 711 Theme Stripes 140'L x 12'H pleated (DOUBLE SIDED)	1	\$6,500.00	Т	\$6,500.00
	24" White, 36" Orange, 24" White, 60" Green, 24" White, 36" Red				
	Perimeter Valance - Green 12"H 140'L (double sided)	1	\$1,500.00	Т	\$1,500.00
	SUBRENTAL: Orange Boucle Sofa	1	\$795.00	Т	\$795.00
	SUBRENTAL: Red Velvet Love Seat	1	\$475.00	Т	\$475.00
	Accent Table - Las Vegas - Square Revelry to decal all sides 18âN N W 18"L x 19âN N H	4	\$150.00	Т	\$600.00
	Ottoman Pod 24"D (4) Red Velvet (8) Orange Velvet 18"RND x 17"H - Cover Color Upon Request	12	\$50.00	Т	\$600.00
	Accent Pillows (8) Orange Velvet (4) Red Velvet	12	\$30.00	Т	\$360.00

Description		Qtty	Price		Total
	New York Bar 6'L - Flat Front 'Slurpee Station' Painted white with hand painted details 6'W x 31"L x 42"H - Color Change Upon Request	1	\$1,050.00	Т	\$1,050.00
	SUBRENTAL: Icee Machine (2) Coke flavor (2) Cherry Flavor Approx 65 (8oz) drinks per machine	4	\$500.00	Т	\$2,000.00
	Las Vegas High Cocktail Table - White hand painted 7-11 theme on table top 36" x 40"H - Can be custom painted	6	\$325.00	Т	\$1,950.00
	SUBRENTAL: Red Metal Barstools (backless)	15	\$35.00	Т	\$525.00
	SUBRENTAL: Gondola Store Shelving - Center Section 4'W x 6'H x 18"D TBD Color **client to provide all merch going onto the shelves**	6	\$675.00	T	\$4,050.00
	SUBRENTAL: Gondola Store Shelving - End Cap 3'W x 6'H x 18"D TBD Color **client to provide all merch going onto the shelves**	6	\$600.00	Т	\$3,600.00
	Custom Platform w. Wheels for Gondola Shelving 86" x 38" with industrial (locking) wheels for shelving to be moved during the event TBD Color	4	\$850.00	Т	\$3,400.00
	SUBRENTAL: Double Door Glass Fridge	2	\$785.00	Т	\$1,570.00
	SUBRENTAL: Chest Freezer Large	1	\$475.00	Т	\$475.00
	SUBRENTAL: Chest Freezer Small	1	\$300.00	Т	\$300.00
			Total Kids Cocktails		\$29,750.00
Main Reception	Adult				
	New York Bar 6'L - Flat Front Painted white with hand painted 711 stripe 6'W x 31"L x 42"H - Color Change Upon Request	3	\$950.00	T	\$2,850.00
	NEW Las Vegas Dining Table (Paintable) 8' x 48"W Painted white with hand painted 711 stripes down table-top	6	\$1,350.00	Т	\$8,100.00
	Las Vegas Dining Table (Paintable) 8' x 48"W - Top & Base (2) Painted Solid Orange 8'W x 40"L x 30"H - Custom Top & Base Color Upon Request	2	\$750.00	Т	\$1,500.00
	Las Vegas Dining Table 8' x 48"D - White white with lotto tickets under a glass top	4	\$950.00	Т	\$3,800.00
	Glass Top 8' x 48' for the Las Vegas table	4	\$0.00	Т	\$0.00
	SUBRENTAL: White Metal Dining Chair	68	\$27.00	Т	\$1,836.00

Description		Qtty	Price		Total
	SUBRENTAL: Red Metal Dining Chair	28	\$25.00	T	\$700.00
	SUBRENTAL: Orange Metal Dining Chair	28	\$25.00	Т	\$700.00
		Total Main Reception Adult		dult	\$20,242.00
Main Reception	Kids				
	Cocktails Drape Emerald Green Velvet 100' x 12'H to separate the Cocktails from reception **discounted rate**	1	\$2,250.00	Т	\$2,250.00
	Stage Backdrop 20'W x 10'H White Paneling with hand painted 711 stripe and 'Jacob' incorporated into design	1	\$3,250.00	Т	\$3,250.0
	New York Sofa 8'L - Emerald Green Cover Instock Cover 8'W x 37"L x 32"H	3	\$550.00	T	\$1,650.00
	New York Sofa Sectional Set (3pcs) - Emerald Green Cover Left Arm, Corner and Right Arm Sectional Instock Cover Left 8'W x 37"L x 32"h Corner 37"W X 38"L X 32.5"H Right 8'W x 37"L x 32"h	2	\$1,400.00	T	\$2,800.00
	NEW Coffee Table 48" x 48" x 20"H - Custom Painted painted with 711 details	2	\$750.00	Т	\$1,500.00
	Segovia Side Chair 27"W X 32"L X 30"H	5	\$200.00	Т	\$1,000.00
	Segovia Side Chair	1	\$200.00	Т	\$200.0
	COVER for Segovia Side Chair - Emerald Green Velvet	6	\$350.00	Т	\$2,100.0
	SUBRENTAL: Curved Green Club Chair	4	\$305.00	Т	\$1,220.0
	SUBRENTAL: Red Sofa 95"W	2	\$815.00	Т	\$1,630.0
	NEW Coffee Table 48" x 24" x 20"H - Custom Painted painted with 711 details	7	\$450.00	Т	\$3,150.0
	New York Sofa 8'L 8'W x 37"L x 32"H	2	\$550.00	Т	\$1,100.00
	COVER for New York Sofa - Orange Velvet	2	\$850.00	Т	\$1,700.0
	Lisbon Side Chair Orange Velvet 30âN N W27âN N 133âN N h	2	\$200.00	T	\$400.0
	Ottoman Pod 18"D (15) Emerald Green Velvet (7) Orange Velvet (10) Red Velvet 18"RND x 17"H - Cover Color Upon Request	32	\$50.00	Т	\$1,600.0

Description		Qtty	Price	Total
	Accent Pillows (15) Orange Velvet (15) Red Velvet (60) Emerald Green Velvet	90	\$30.00 T	\$2,700.00
	Las Vegas High Cocktail Table - Multicolor (4) in Orange (3) in Green 36" x 40"H - Can be custom painted	7	\$275.00 T	\$1,925.00
	SUBRENTAL: White Metal Barstools (backless)	35	\$35.00 T	\$1,225.00
		Total Main Reception Kids		\$31,400.00
Services				
	Installers: Install Friday	8	\$500.00	\$4,000.00
	Installers: Install Saturday	6	\$500.00	\$3,000.00
	Installers: Stand Bys	2	\$250.00	\$500.00
	Installers: Strike Monday	8	\$400.00	\$3,200.00
	Trucking: 24'L Box Truck + Fuel Surcharge	3	\$585.00 T	\$1,755.00
	Manager: Onsite for (2) Days	1	\$1,700.00	\$1,700.00
	Manger: Prop Sourcing, Layouts, & Decks	1	\$2,000.00	\$2,000.00
	Supplies: Onsite	1	\$550.00	\$550.00
	Custom Artwork: Hand Painted Details	1	\$3,000.00	\$3,000.00
	Custom Artwork: Printed Decal Materials & Labor	1	\$850.00	\$850.00
	Certificates: Flame Proofing	1	\$650.00	\$650.00
	SUBRENTAL Company A: Delivery and Pick Ups	1	\$2,675.00	\$2,675.00
	SUBRENTAL Company B: Delivery and Pick Ups	1	\$1,600.00	\$1,600.00
	SUBRENTAL Company C: Delivery and Pick Ups	1	\$1,850.00	\$1,850.00
	SUBRENTAL Company D: Delivery and Pick Ups	1	\$1,600.00	\$1,600.00
Please make che	cke pavable to Pavalry Inc		Total Products:	\$79,317.00
Please make checks payable to Revelry, Inc. Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it Notes		Total L	abor/Services/Misc:	\$28,930.00
			Wear & Tear (3.00%):	\$2,222.66
			Packing (2.00%):	\$1,481.77
		-	Taxes (tax excempt):	\$0.00
			Discounts:	(\$5,228.35)
			Total:	\$106,723.08
			Payments:	(\$106,984.50)
			Balance:	\$-261.42